VCE & PDF https://www.passapply.com/hp2-z34.html
2024 Latest passapply HP2-Z34 PDF and VCE dumps Download

PassApply.com

HP2-Z2347¢A

Building HP FlexFabric Data Centers

Pass HP HP2-Z34 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/hp2-z34.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest HP2-234 Dumps | HP2-Z34 PDF Dumps | HP2-Z234 VVCE Dumps 1/3


https://www.passapply.com/hp2-z34.html
https://www.passapply.com/hp2-z34.html
https://www.passapply.com/hp2-z34.html

VCE & PDF https://www.passapply.com/hp2-z34.html

2024 Latest passapply HP2-234 PDF and VCE dumps Download
=P

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 1

What is the purpose of the nickname in TRILL switch settings?

A. The nickname identifies the TRILL region and must match on every TRILL RBridge in the region.
B. Administrators can use the nicknames to identify switches in CLI output.

C. The nickname is the first factor for electing a root bridge

D. TRILL RBridges use the nicknames as source and destination addresses in TRILL headers

Correct Answer: D

QUESTION 2

Which statement is correct about a Fibre Channel (FC) World Wide Name (WWN)?

A. It is a hardware specific address for a LUN on a storage disk and can be used to direct FC frames to targets.
B. It is a hardware specific address for an FC device and can be used to place the device in zones.

C. Itis assigned to an FC device based on its location and can be used to deliver FC frames

D. Itis assigned to an FC N-port as its switch joins the fabric and can be used to route FC frames

Correct Answer: B

QUESTION 3

What must be used when implementing the backbone multicast feature to isolate multicasts in the SPBM region?
A. maximum of two Equal Cost Tree (ECT) algorithms

B. single I-SID for all VLANs belonging to the same customer

C. head-end replication for multicasts

D. odd-numbered VLAN IDs for B-VLANs

Correct Answer: C

QUESTION 4

An HP Comware switch supports FCoE in Fibre Channel Forwarder (FCF) mode. A switch interface Ten1/0/1 connects
to a server FCoE Converged Network Adapter (CNA). The CNA transmits normal data traffic, which is tagged for VLANs
4 and 8. and storage traffic for VSAN 2, which is associated with VLAN

20. What is a correct port type and VLAN configuration for Ten 1/0/1?
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A. a hybrid port that has PVID 1 and defines VLANs 4 and 8 as tagged

B. a trunk port that has PVID 20 and permits VLANs 4. 8. and 20

C. a hybrid port that has PVID 1. defines VLAN 20 as untagged, and defines VLANs 4 and 8 as tagged
D. a trunk port that has PVID 1 and permits VLANSs 4. 8. and 20

Correct Answer: D

QUESTION 5

When is it recommended to block VRRP hellos between routers in the same VRRP instance?
A. when the VRRP master and VRRP backup router are part of the same IRF virtual device
B. when providing two VRRP master routers to be deployed in different data centers

C. when the VRRP master and VRRP backup router are part of a TRILL domain

D. when the VRRP master and VRRP backup router are top of the rack (ToR) switches

Correct Answer: A
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